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#//

L4 bi=4.2 ' # ClrAlmg(LLl) | # b:=3.0 L4 a:=2.0
i# draw i# a:=2.1 i# draw i# b:=2.3
| #SetAlmg L4 b:=3.6 L #SetAlmg L4 draw
P4 wait(l00) | # draw P4 CIrAImg(Ll) | #SetAlmg
A P4 ClrAlmg(LL) | #SetAlmg L4 a:=2.0 L4 ClrAImg(L1)
L4 a:=2.6 | # wait(100)  i# b:=2.9 L# a:=2.0
t# bi=4.1 i # CIrAImg(L1) :# draw t# br=2.2
i # draw P # a:=2.0 : #SetAlmg L # draw
: #SetAlmg i # b:=3.5 i # CIrAlmg(L1) | #SetAlmg
” " P# wait(100) i # draw P # a1=2.0 i # ClrAlmg(L1)
t# ClrAImg(L1) | #SetAlmg i # b:=2.8 L4 a1=2.0
P # a:=2.5 P # wait(100) | # draw P4 br=2.1
i # b:=4.0 L # ClrAlmg(LL) | #SetAlmg L4 draw
P4 draw P4 a:=2.0 i # CIrAlmg(L1) | #SetAlmg
# 1/ L #SetAlmg P # b:=3.4 P # a:=2.0 i # ClrAlmg(L1)
# a:=3 P# wait(100) | # draw L4 bi=2.7 L4 a:=2.0
# b:=4.5 t# ClrAImg(L1) | #SetAlmg L4 draw L4 b:=2.0
# draw i# a:=2.4 i# CIrAlmg(L1) i#SetAlmg i# draw
#SetAlmg ' # b:=3.9 L # a:=2.0 L # ClrAlmg(Ll) | #SetAlmg
# wait(100) L # draw ' # b:=3.3 L4 a:=2.0 L4 ClrAlmg(L)
# CIrAlmg(L1) : #SetAlmg L4 draw L4 b:=2.6 L4 ai=2.1
# a:=2.9 P4 wait(100) | #SetAlmg L ¢ draw L4 b:=2.0
# b:=4.4 P4 ClrAlmg(Ll) | # CIrAlmg(Ll) | #SetAlmg L4 draw
# draw P4 a:=2.3 P4 a:=2.0 P4 CIrAImg(Ll) | #SetAlmg
#SetAlng P4 b:=3.8 P4 bi=3.2 L4 a:=2.0 L # ClrAImg(L1)
# wait(100) L4 draw L # draw | # b:=2.5 L4 ai=2.2
# CIrAlmg(L1) : #SetAlmg | #SetAlmg L # draw t# b:=2.0
# a:=2.8 i # wait(100) | # CIrAlmg(Ll) | #SetAlmg L # draw
# b:=4.3 t# ClrAlmg(L1) | # a:=2.0 i # CIrAlmg(L1) | #SetAlmg
# draw P# a1=2.2 t# b:=3.1 P # a1=2.0 i # ClrAlmg(L1)
#SetAlmg t# b1=3.7 L # draw P # bi=2.4 P4 a1=2.3
# wait(100) L # draw | #SetAlmg L # draw L4 b:=2.0
# ClrAlmg(L1) : #SetAlmg i # ClrAlmg(L1) | #SetAlmg L4 draw
# a:=2.7 P # wait(100) | # a:=2.0 i # CIrAlmg(Ll) | #SetAlmg
#a:= # b= ...l b # draw.........
#SetAlmg......... # wait(100).........0.1

# CIrAlmg(L1)




#//

# for a
Step(a)
# draw

# wait(1000)
# next a
# ——-
#// A
# for b
Step(b)
# draw

# wait(1000)
# next b

=0 to 9 step

=0 to 9 step

# for a :=0 to 9 step

Step(a)...... 0 9
next
# HideObj......
# ShowObj......
# for s := step Step(s)

next

HOH OH OH HF OH HF OH OB OH B H

HOH HF OH OHF OH O OH OB OH H H

H OH HF H H

//

for m :=3 to 19 step Step(m)
draw

wait(1000)

next m

// QR
HideObj(y2,L9,L10,L12)
ShowObj (L11)

ClrAlmg

ShowObj (y1)

for t :=(-dp+nc-np-dm+cq+mq)
/(2c-2p) to 10 step Step(t)
draw

SetAlmg

wait(100)

next t

ShowObj (L12)

//

HideObj(y1,L11,L12,L10)
ShowObj (L9)

ClrAlmg

ShowObj (y2)

for s :=(-bm+ad-dm+an-bc+cn)
/(2a-2m) to 20 step Step(s)
draw

SetAlmg

wait(100)

next s

ShowObj (L10)

#//

# for m :=6 to 27
step Step(m)

# draw

# wait(1000)

# next m

# for m :=6 to 27
step Step(m)...... 6
27 next



draw

draw

" g
L # wait(1000) L # wait(1000)
4 pi=12.9 L4 pr=22.9
' # :=10.3 ' # ¢:=10.5
i# draw i# draw
A P # wait(1000) L # wait(1000)
= P4 pi=14 L4 p:=23.8
P4 og:=11.1 L4 q:=9.5
i# draw i# draw
L # wait(1000) L # wait(1000)
"z g pi=i5.2 | # p:=24.6
t#q:=11.7 1 # q:=8.3
t# draw L # draw
# // t# wait(1000) { # wait(1000)
# p:=10.1 t# p:=16.5 t# p1=25.2
# q:=4.5 PH# =12 P4 go=7.1
# draw t# draw L # draw
# wait(1000) t# wait(1000) L # wait(1000)
# p:=10.3 t# p:=17.9 {# p:=25.6
# q:=5.8 #1122 L # :=5.8
# draw i# draw i# draw
# wait(1000) L # wait(1000) L # wait(1000)
# p:=10.6 4 p:=19.2 ' # p1=25.7
# q:=7.1 4 =121 L4 q:=4.5
# draw i# draw i# draw
# wait(1000) ' # wait(1000) L # wait(1000)
# p:=11.1 {4 p:=20.5 | # p:=25.6
# q:=8.2 P4 qi=11.7 P4 qi=3.1
# draw i# draw i# draw
# wait(1000) L # wait(1000) T
# p:=11.9 L4 p:=21.8 |
# q:=9.4 #q:=11.2
#p:= #09:= ... # draw.........
# wait(1000).........
@
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